Trigonometry
1. (a)  Express 2cos x + 3sin x in the form kcos(x - a)( where k > 0 and   0 ( a ( 360.

 (b)  Hence solve the equation 2cos x + 3sin x = 0.5 for 0 ( x ( 360.

2. (a) Write 4sin 2x + 3cos 2x in the form ksin(2x + a)( where k > 0 and   0 ( a ( 360.

    (b) Hence write down the maximum value of 4sin 2x + 3cos 2x and the value of x 

         at which this maximum occurs.

3. Solve the equation     3tan2 x – 1 = 0                0 ( x ( 2
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4. (a) The diagram shows the graph of 

          y = asin bx + c.

         Write down the value of a, b and c.

    (b) Find the coordinates of P and Q, 

          the points of intersection with this

          curve and the line y = 2.                   
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5. The diagram shows the graphs of 

     g(x) = acos bx + c and h(x) = cos x

(a) State the values of a, b and c.

(b) Find the coordinates of P and Q.
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6. Using the diagram shown show that

      sin(a + b) = 
[image: image2.wmf]2

1


 7. (a) f(x) = 2sin2 x – 3cos x. Find f /(x).

     (b)  Find the equation of the tangent to  y = 2sin 
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8. Integrate 
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sin(4x –2) dx

   9. The diagram shows part of the graph of

        y = 3sin 4x.

       Calculate the shaded area. 
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10. The diagram shows the line y = -2.5
      and the graph of y = 4cos 2x.

      Find the x-coordinates of A and B

      and hence calculate the shaded area.
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